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Question Number : 1 Question Id : 4509385761 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Taxonomic keys are based on

50882 8 e DEI e B0

Options :

Morphological characters

O 5850 8 sren

Reproductive characters

b

(e ses el e 8 ggren



Anatomical characters

0580780 5 e

3. %

Contrasting characters

> YEAS SgErsed e 8 erren
4.

Question Number : 2 Question Id : 4509385762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Name the plant and body showing Cup or saucer shaped ascocarp

S0y B0 ) B ardb 6523 S D 881525 ) TriTen
Options :

Penicillinm. Peritheciiun

D00, DHEHVOHO
1. %

Claviceps. Cleistothecium

W) V), SEPE™AH0
2. %

Neurospora. Apothecium

G0, ©FHDAHO

3.¢



Aspereilius, Ascothecium

e3:0)1800, s8R HVAHO

Question Number : 3 Question Id : 4509385763 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify wrong matching

I | Went Citric acid cycle

II | Summner Zymase

IT | Frankel Conrat | Genetic nature of RNA

IV | Hutchinson Phylogenetic classification

=

205000 26D HBodok

I | 308 RTAERNINOIOW e
I | 5506 Bae

I | 08O SR T°8) | RNA QB0E) B3chg e s

IV | 590 & SN 508Ge

Options :

I and III
I 080 II

1. %

IT and IIT

I 080w I



Iand II
I o080 I

ITand IV

I 060 IV
4, %

Question Number : 4 Question Id : 4509385764 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Pyriform gametes with two laterally attached flagella are found i

36 Hoch esE)BS G0k, Bodh 37850 @059 §a72ren e fsiasmen

Options :

Laminaria and Fucus

VA DO 0N o fS
1.¢

Sargassum and Volvox

DT OO e (5 )

i

Ectocarpus and Chara

DETE)R HBASY 5o

Fucus and Funaria

IR SO Y fodalr
4, %



Question Number : 5 Question Id : 4509385765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Stem tubes. Corm, Rhuzome. Cladophyll, Bulbil. Stolon modifications shown by this correct

sequence of plants

(30 S0cw, $00, 03, SENO, OODSN, Fod o drrodTet
TP S50 OGN 2 (e
Options :

Potato. Ginger. Turmeric. Zaminkand. Dioscorea, Nerium

DO N0, B0, D). 08, CHOITF)LB805, (R LK

Potato. Zaminkand. Turmeric, Ginger. Agave. Asparagus

20NN, 8083, D)., O, @0, DT I

Potato. Zaminkand. Ginger. Asparagus. Agave, Nerium

20PN 0D, 04, €900, e3030°0R), @Ne, (1)

Potato. Ginger. Zaminkand. Asparagus. Agave. Jasmine

20MTFCNO0D, @O0, 08, 8OTR, 9N, N8
4. %

Question Number : 6 Question Id : 4509385766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following list

List A List B
I | Maize A | Partial parasite
IT | Striga B | Stilt roots
IIT | Banyan C | Prop roots
IV | Taeniophyllum | D | Velamen roots
E | Photosynthetic roots

5500 D835 25H TS
HEE A 2638 B

I | 30880 |A|rSETa)da

II|[ond B | &b 3D

| 58 C | &acs I
IV | e3@r0 | D | 300 S8
E | 88623050003 Sat S

Options :

I-B m-A 1III-C 1IV-D

1.%

I-B m-A III-C IV-E
2.

I-C II-A 1III-B IV-E
3. %

I-E I-¢  II-A 1IV-B
4. %

Question Number : 7 Question Id : 4509385767 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion [A] : Scale leaves of rhizome of ginger are vegetative propagules

Reason [R]  : Vegetative propagules of flowering plants are capable of giving new offsprings

D380 [A] : 900 550 S o) FenarBoen FEoHaTsa) FETED

DIGDR] YN0 ELO TEONTER) TETEN 5B 0 tch 1B TODHOY

Options:

A and R are correct. R 1s the correct explanation of A

A B3 R ABGDAD. R @G A 550 080D added

1. %
A and R are correct. R is not the correct explanation of A
A B0 R S8BT, R 9:958 A 350 H8TS Dedisen 5765
2. %
A 1s correct but R 1s imncorrect
A HBTDSE 5 R HOTSE 5°¢%
3. %
A 15 mcorrect but R is correct
A SBTDIE 55 5 R HETDSE
4.+

Question Number : 8 Question Id : 4509385768 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct statements related to plant reproduction
I InCladophora male and female gametes are morphologically similar
II. Male and female gametes of Preris are heterogametes

II.  Fungi are usually homothallic and unisexual

IV.  Monoecious plants are bisexual
080 (D038 5020000 SO VLD ) Feda
L FEXTS HHa HO0W | ST Deren dsirod 28 Aorr
v OIAROW
I DS DA D00 (R SR Deren D) Home Daren
I 300[FeN PEFOHom B OomEad MEdotsen
IV.  &300mFoh 98 tir9 Juden 8y &5Oofsen

Options :
1 LTI TV

I II. IIT
2. %

IL. ITL, IV
3. %

I OL IV
#®
Question Number : 9 Question Id : 4509385769 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct combinations based on their Taxonomical features

[ | Androecium of crotalaria | Monodelphous | Monothecous

I | Gynoecium of capsicum | Unilocular Swollen placenta

[T | Saraseparilla Radical leaves | Tendrillan climber

IV | Datura Capsule fruit | Carpels obliquely at 45°

505661 % 70 SEREOT B EOEDSD D) Feden

I | (§T6arSaTa® | 2520850 28 88 %0
I | )80 @odss0 | a8deanedo G52))0 QOGS0
I | D0 Jns), 5o o0 JEFen | HOfans ede
IV | Sesrd HOE He0 15° §008 DTN
OO
Options :
I, III
1.%
II. III
2. %
IL IV
3.¢
LIV
4. %

Question Number : 10 Question Id : 4509385770 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct statement
. Prmary cell wall is capable of growth in mature plant cell
. Middle lamella is fust formed layer of cell wall and it is the outer most layer in mature plant
cell
[l Addition of lignm i to cellulose mterfibrllar spaces leads to the formation of secondary

cell in mature plant cell
B ar gz Hothe
L csend Socksain SnABK S8 &ere S KOS
I 008 S80S ok 58S &8 D80 HOH8s S98
4o FENDe PO EDV0O
I OMS ero §8 450 HTTen ondR Fbde D fe eosdd

HETOSE T & 380D Sentadtd D80 AEIHMOD

Options:

I, II, 111

L

II. 111
3.¢¥

I 11
Question Number : 11 Question Id : 4509385771 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

ListA ListB

I | Glyoxysome A | Synthesis of ATP

1T | Plastids B | convert lipids to carbohydrates

III | Nucleolus C | Synthess of carbohydrates & proteins

IV | Mitochondria D | Ribosomal RNA synthesis

E | Synthesis of Nucleases

118080 80D B0

DEE A HE B
I o8 | A | ATP H03ae
I | ) B D& b 50)3TBO ) T SP)8

| 305090 | C |58 3m@e, 19365 003e

IV | D 50A05T | D | 35PF0SO RNA 90308

E | &rSodd o do3am

Options :

I-B n-g Mm-c 1vV-D

I-A II-E 11II-D IV-B

2. *

I-B II-E II-D IV-A
3. %

I-B II-¢  III-D IV-A
4.

Question Number : 12 Question Id : 4509385772 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List A List B
I | Aromatic amino acid A | Lecithin
II | Phospholipid B | Guanine
III | Heterocyclic compounds C | Collagen
IV | Intracellular ground substance | D | Tryptophan
E | Valine
1508 TR 25T
HE38 A D5 B
I | e385:5¢38 @na esededn Al BHHS
I | 006 B | mids
I | DAY dopey Sevadh aiihso | € | O
IV | 8er0658 orads Hr@an | D | |88
E| O

Options :

I-D II-A II-B IV-C

1.4

I-D II-E III-B 1IV-A
2. %

I-E II-A TII-B IV-C
3. %

I-B II-D Hi-A IV-C



Question Number : 13 Question Id : 4509385773 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Number of chromosomes in maize root cells at Gi phase. after S and M phases respectively

G 5%, S OB M e Boried IKER), 3B Serod |TArawe Sow;

MW

Options :

20 20 20

2. %
20 10 20
3 %
40 20 20
4. %

Question Number : 14 Question Id : 4509385774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correct statement regarding plant tissues

R8O 52277050 D020H0D) DB 55 hHBotdods

Options:

Permanent tissue is composed of meristematic cells

% 56d §027°0 Der R BT OT HrO G0N0
1. %



Cotk tissue is a living tissue

Boch Sooerero H28S oo

2. #

Secondary cortex shows sclerenchyma cells filled with chloroplasts

B S0 563,00 570 BEWHOS D0 (LT LTy
3. %

Interfasicular cambium 1s a secondary meristem

$H02F0SS DT sSeTs® ol B 530 DeresieTd®
4.

Question Number : 15 Question Id : 4509385775 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Secondary growth is absent in monocots generally.

Reason (R): Vascular bundles are conjoint and closed.
D550 (A): DEGFDererS FFEOM B BONSYE SO,

S0 (R): PRS0 02300 HOONS0 B0 H0sSyeso.
Options :

A and R are correct. R 1s the correct explanation of A

A SHB050 R SBTDX. R :SE A 380 BT D38
1.4

A and R are correct. R 1s not the correct explanation of A

A 558050 R BTN, R @080 A %0 ST Dedden 5¢



A 18 correct but R 1s incorrect

A DOTHXE SR R HOTPSE 5%

A 1s incorrect but R 1is correct

A HBTDSE 595 5% R HOTSE

Question Number : 16 Question Id : 4509385776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Sclerenchyma tissue 1s present in this portion of this structure

59¢8 820 & S0, &8 DT 0S GO
Options :

Above secondary phloem in dicot stem

5 565 DR50C0 & 530D HFALEDTO0 3

Above primary phloem in primary dicot stem

BFGE B 565 D500 (ardans SFNEEP0 26
2.

Above secondary xylem in secondary dicot stem

£ 5309 598 &3S DRS00 B ST TTHIY IS



Above prumary xylem in primary dicot stem

OE B 565% DBS0B0 [FHDE t3°51sY) DS

Question Number : 17 Question Id : 4509385777 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Hypostomatous condition, sunken stomata and stomatal hairs are found in this leaf

B |SE0| SR, BHG HBE0[TEN HEA JSBoGETe &N dod

o023t

Options :

Nvimphaea

ADODAT®

1. %

Nerium

DEQDD
v

Lipha
Vi

Sagittaria

TR EA?

4, =

Question Number : 18 Question Id : 4509385778 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Match the following

Example Type of Hydrophyte Character
A | Salvinia |1 | Submerged rooted hydrophyte | 1 | No contact with soil
B | Hvdrilla |1 | Amphibious plant it | Have contact only with water
C | Gipha [T | Submerged suspended i | Partly live in water and partly in
hydrophyte air
D | Vallisnaria | IV | Free floating hydrophyte v | Epthydrophily
500 73 ZBIGH
GO0 8 Ing) 8%0 08 260
Al dmad [T [smdidefite |i |88 Sonodo Hoc
T00 D3 Jnd)
B| amder |0 |&8chddSng, | |88 sred donoo
C| I | SRR @008 | il | 2§ o S shdakn a8 Eomr
RIATRN) FOMHSOMT DEDHEON
D | IR V| Ry 8daird | iv| &l 2050a008,0
aoalr 08}
Options:
- A-T-itv . B-II-in C-III-u = D-IV4
A-IIT-11 B-II-11  C-IV-1  D-I-1v
2 %
A-TV-1 B-Ill-u  C-II-iu = D-I-1v
3.v
A-TlM-1 B-IV-u C-II-i1 D-Iav

4. %




Question Number : 19 Question Id : 4509385779 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): Root pressure does not play a major role i water movement in tall trees

Reason (R): Root pressure is responsible for pushing up water to small heights in stem

D)0 (A): SFEBS SITOS 3K D550 D VOSSR SePOTICH
S50 (R): SOB0ES 50 N 555 D SADTDE B D0 TEEDHD

Options:

A and R are correct. R 1s the correct explanation of A

A HBAI R O8ADR). R @900 A 350 80D Doded

A and R are correct. R 1s not the correct explanation of A

2. &

A 1s correct but R 15 incorrect

L ADODSB SRR HOPSE T

A 1s incorrect but R 1s correct

A HOTDIA 5% 5 R HOTDSE
4. %

Question Number : 20 Question Id : 4509385780 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Study and match the following Lists

List-I List-IT
A | Aquaporins [ | Passive process
B | Incipient plasmolysis | IT | Transport over to distance
C | Simple diffusion [T | Water channel
D | Translocation IV | End plasmolysis
V| Shrinkage of protoplast

808 DTeD @;0HN0 TR BBDHN

AL e -l
Al o580 e I | Qaa08r 0e
B | [2rd02 $ea(cdadg 08I0 [T | dndird Sarer
C | 20 Ddea I | e3 7o
D | rrodarer IV | $ea((3odg O8I0 DI ¢
V | 855 Ht080 SthhEicho
Options :
A-II BI CcaIo D-V
1. %
A-III B-V  C-II D-1
2. %
A-V B-II  C-II D-1
3. %
A-III B-V  C-I D-II




Question Number : 21 Question Id : 4509385781 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Find incorrect statements
A. Rhodospirillum 1s aerobic
B. Anabaena and Nostoc are free living nitrogen fixers
C. Azatebacter 1s anaerobic
D. Beijernickia is aerobic
DO FSTEEIAD ST
A 8ER)80D s70inereh 29
B. @080 T R 5T° )80 e o Bajen
C. @2¢5ersEearosn £
D. Z2808alraroindare 25

Options:

Question Number : 22 Question Id : 4509385782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the table and find deficiency symptoms shown mn plants

A | Fe. Mn. 7Zn

B | Cu Ca
C | N.K

HE3ED ©¢550D50 T2 FNEOS EJV0TH S OF £ D0
A | Fe. Mn. Zn

B |Cu.Ca

C|N.K

Options :

A: Stunted growth B: Chlorosis C: Necrosis
A: Acdderdcto B: AGBes0 € T[TV

1. %

A: Chlorosis  B: Necrosis C: Inhibition of cell division

A: Q8880 B: JBTORD  C: E0aD25E S QBHOHCHE
2.9

A: Delay flowering B: Stunted growth C: Chlorosis

A DO BODENME B: AGd2rdi0 € AQOH0

A: Premature leaf fall B: Necrosis  C: Chlorosis

A: B6b JHlEren orendd B 1500 C: AG8é0
4. %

Question Number : 23 Question Id : 4509385783 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Find out the mcorrect statements regarding Enzyvmes

DB O H0D0H0D AOTA T EDLEIN EDTDIW
Options :

Km: Approximate inverse measure of the affinity of the enzyme for a given

substrate
Km: 335080 28 @d0dm0 §90 TN I B 206
DS T 15 VST Ard0HEd

Enzymes generally function in a broad range of temperature and pH

DB €N DYed Coel (1165 OO pH oI D Tad*Ow
2. ¢

2.7.1.2 1s enzyme code for Glucose-6-Phosphotransferase

(PE°0 — 6 — P Y €D )00 B0 DB NOPS 2.7.1.2

3. %
Catalytic activity 1s lost when cofactor is removed from the enzyme
DB NOD DFSE5RA) FORR o &(B)6E (Basrdered
SHtvE el

4. %

Question Number : 24 Question Id : 4509385784 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ratio of ATP generated. number of ATP and NADPH + H™ needed to produce net gain of one

glucose m C4 plants
Cs TGOS o 28 PER JE)HOH, G8)BS ATP, S0 ATP SHBAM

NADPH +H™ © 5023 B8} Aa )&

Options :

Question Number : 25 Question Id : 4509385785 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following and choose correct pair

S.No | Photosynthetic process Feature [ Feature II
[ | Hatch and slack cycle | NADPH +H", ATP are used m | Decarboxylation
25
II | Noncyelic e transport | HyO is e donar Only PS Involved
I | Cyclic & transport H;0 s not ¢ donar NADPH + H™ are not
formed

1808 7430 96550050 T2 B OANEOD o) Fdad)

2.00 | S8z SodiriSad Wd; ©5801 ©5801
I |50 000 IS S00H0 | NADPH +HTATP o) 23 |G 5098800
& DATrAoAS
I | escyohe arer & 076 Hy0 PS T oS|edad
&0
il tia@@b e drer & e 0 S0 NADPH +H'
BOAEIAY
Options :
I
1. #®
I
2. ®
,  ILII
I. III

Question Number : 26 Question Id : 4509385786 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Plants do not have respiratory organs due to the following reasons
[ Rate of respiration i plants is less than animals
II. Loose packing of parenchyma cells
Il Most cells of a plant have at least a part of their surface in contact with air

IV, Transport of gases with in the plant is more

0808 Trromren BEFSas & 808 eéeren
L 20690 0T K0S 7580k Bew 80y
I DT @8 a3 O0
I 30508 o0 ey {00 T8 &30600 T TOS 00T
$O0 GO
V. 30508 Fonye 6T ob%o

Options :

II. 11, IV
1. %

5> AL

; % LIOLIV

II. III
Question Number : 27 Question Id : 4509385787 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the Lists and find correct pairs

I | Terpene GA;3

IT | Adenine derivative | Kinetin
ITI | Carotenoid ABA
IV | Purine derivative | Ethylene

2T 0NN T DD 265D FedFadedn
I |28 GA3
I | DAAM 5530910 | B3
I | 353ronb ABA
IV | 35BS &e53050 | 20O

Options :

I IV

II. III

T, 48 T

I IIT. IV

Question Number : 28 Question Id : 4509385788 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose correct combinations

[ | Carbon from atmospheric CO; Methanogens

II | Energy from oxidation of inorganic substances | Chiorobium

[T | Only carbon from organic sources Rhodopseudomonas

IV | Carbon from dead organic sources Bacillus

DO E0DEOD e ) §D

I | &858 CO2 0B 56 B BN

I | 980|H0% JTe 88860 HoBd 4 | §6DahD

L | 8838 NOTRN DT DOD) 58)0 BTG IR

IV [ 285 86388 HoBR HTe) H0D EIS | 2P0

Options :

1

Question Number : 29 Question Id : 4509385789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study and match the following lists.

List-I List-1I List-III

Creutz feldt Jacob | I | Viroid | 1 | Human

Swollen shoot II | Cocoa | 11 | Infective protein

— -

Bovine Encephalitis | I | Beef | 11 | Tiny nucleic acid

=2 & = =

Cucumber IV | prions | 1v | Malformation

808 &ATD @EH;000 TR 2D

2e)e] || Ze)e I

AlBOIO-28T 0 | T |Zoowd | 1| Srdeychd

B | &8y st0¢k0 I (&% il | (6350506 Hoisns

DE0yen

C| 5300 r0SR || JDTo0 | il | 96 %) So|ds0

D| 8 IV [(Dofrd ey | iv] Sodrad
Options :
A-TII—1 B-II-1v C—-IV-ii D—-I-iu
1.+
A-I-i1i B -1 —ii C—-IV—-iv D-II-1
2. %
A-TII-1 B-1I-1n C—-II—1v D—-IV-iu
3. %
A-TIT-u B-I-1 C—-II-1v D-IV-1
4. ®

Question Number : 30 Question Id : 4509385790 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the progeny of dihybrid cross of pea plant, the phenotype ratio between the proportions of

recombinants and parent plants respectively is
LT TNGHER B H088 080 0SB Bdg ydd0TrETe) HOAM

298 T80 055 B3 87 A ST

Options :

Question Number : 31 Question Id : 4509385791 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In F2 progeny of dihybrid cross in pea plant the ratio of genotypes YYir. yyRR, YYRR. Yyir
L' W, & LA - r - g
B39088 ¥0806 2673 FnESD Fr N0SBS YYm, yyRR. YYRR, Yy © 20

EPHTO S0 A

Options:



2. ¥

4:1:2:1
3.

LS B I
4. %

Question Number : 32 Question Id : 4509385792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of cytosine molecules m a typical dS DNA molecule which 1s having 20 coils with
480 Hydrogen bonds.

2040 480 G2 0TV, 2.8 FTOE dS DNA S DS BENHO 03

Options :

20

80

110

Question Number : 33 Question Id : 4509385793 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Assertion (A): Lac mRNA is synthesized in the presence of inducer

Reason (R): The activity of repressor protein 1s suppressed by inducer

QB350 (A): (G50 SHE0S €75 mRNA H03R0E D
53695500 (R): B2arD |38 0565 (D650 DB 5850 BAHthed

Options:

A and R are correct. R 1s the correct explanation of A

A NBAW R O8QHAD. R @00 A A8 H8OD 006

1.¢
A and R are correct. R 15 not the correct explanation of A
A B0 R HBEDSD. R @SB A S8 HBTS Ded5ed 5265
2. %
A 1s correct but R 1s mncorrect
A BT 5 R HBTSE 5965
3. %
A 1s mcorrect but R 1s correct
A HOBSO 565 D R HOBDSE
4. %

Question Number : 34 Question Id : 4509385794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Lac Operon Z. Y. a and 1 indicates the following codes

8 L,00°Q 5 Z. Y, a 0005 i (§08 H0TErercd rd)od
Options:

P galactosidase. permease. fransacetylase, repressor

B TPeS 220325, H80027, 167 ) @B B, B ard
1.¢

Inducer. promoter, operator. repressor

G50, 103060, e300, Bl ard

- trp. ara. his. val

Promoter. Dl)E‘l’ﬂtGI‘. ITPressor, mducer

IS0, e300, Bl TD, 880
4. %

Question Number : 35 Question Id : 4509385795 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): DNA fragments are positively charged.

Reason (R): DNA fragments are separated by gel electrophoresis techmique.

Q330 (A): DNA DOGTEY (S ades arderew.
6Ea0 (R): DNA 20T 26 0| FAFTR Ar03aEs o 5o 56 DI

Options :

1. %



A and R are correct. R 1s the correct explanation of A

A SHB050 R HBTNSD. R @90 A S50 HBTDS DS3en

A and R are correct. R is not the correct explanation of A

A HB0M R ABADAD. R @cDAE) A 980 8D a8 5°¢H

A 1s correct but R 1s incorrect

L, ARDOTHIE VR OOTAIO T

A 1s incorrect but R 1s correct

4.+

Question Number : 36 Question Id : 4509385796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

This Nutrient is present more in Golden rice when compare to conventional Rice

OO Ao G508 FOITVB 20mh SO & Faks eddor O
G0N0

Options:

Vatamin C



Iron

080
Calcium
sOaHo

3. %

Beta Carotene

Ner 8IS

4.+

Question Number : 37 Question Id : 4509385797 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the Algae. fungi and bacterium used as SCP 1 serial

SCP TP a7CH2)E 35020, 30|50, 25O0HD) 5 SDIM H B0

Options :
Chlorella, Scenedesmis, Methviophilus
§Ber RN A DB DD
1. %
Chiorella, Candida, Scenedesmiis
§Ber el i TR
2. %
Spirulina, Candida, Methviophilus
DD ko e)e foc: DTS DOD

3.¥



Chaetomium, Candida, Brevibacterium

DT ADD, 57083 (EDerE8a0eD
4, %

Question Number : 38 Question Id : 4509385798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the mmcorrect pair regarding plant tissue culture

I Meristem culture - Virus free plants

II. Embryos on callus somatic Embryos

III.  Somatic hybrids

Embryoids

IV.  Organogenesis - Artificial seeds

0820 809270 SPTR8 NOVO0HOD DT BN ) 5o

I Qaras$mere Sdd0 - FOD Gared Tngyen
I 500 H0b dowen - FE0D DOTreN
M 3505 Sodorew - DOTETeN
IV. @505 580 - By Ddren
Options :
III
1. %
I, IV
2.
1L, II1
3. %



LIV

Question Number : 39 Question Id : 4509385799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A) : Biological control developed for treatment of plant diseases

Reason (R)  : Trichoderma are free living fungi common in root ecosystem

DR)8s50 (4): Boda &) AOHOEBE DETRH0eD FNEHS R a5 D) HE §do

NN ARRINEOW
U850 (R): (| BEBTY DI BN0T sarersdtien 550D 30Tren

Options :

A and R are correct. R 1s the correct explanation of A

A OB R HOTDED. R @9 A 350 HBTDS D562
1.4

A and R are correct. R is not the correct explanation of A

A HB0I R H8AHAD. R @D A 550 Q8T e 5°CH

A is correct but R is incorrect

A SBTDSE 5 R HOTIE 52
3. %

A is incorrect but R is correct

A SBTDSE 595 5 R HOTSE



Question Number : 40 Question Id : 4509385800 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct pair related to Bio active compounds

L Aspereillus Niger - Citric acid
II.  Clot bluster - Pectinases
I Cyclosporm A - Immunosuppressive agent
IV.  Biogas - Activated shudge

209 1505Pe528 9£20a) 08 000D T 236D ) Tedyeln

L &:)02800 920 S [A Lo
I ey dofohdd - 88 e
I RSB A . B QFSES 221800 FHOE GG TSH
IV. 20mse - EBN R0
Options :
IL. 111
I.1I
2. &
LIV
3. ®
I.III
4.9

Zoology



SectionId: 450938124

Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 41 Question Id : 4509385801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Book published by John Ray
2500 O [DTHB0DS (f08d0
Options :

Natural History

FDBO ard

Systema Naturae

NI VN

Origin of species

278 E) Ereh e

Historia Generalis Plantarum

&0 BITOR I 0TIGen



Question Number : 42 Question Id : 4509385802 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Pick up the ex-situ conservation method

Q) 27T OGS £ D) HhBothod
Options:

National Parks

2730 POl VIR BN
1. %
Sanctuaries
- €923 05 GETLED
Gene Banks
20§ 2050 e
3. \‘(/ = o
Sacred Groves
oT%0000 0dedC)
4. %

Question Number : 43 Question Id : 4509385803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In some non chordates. during embryomec development. mesoderm occupies only a part of

blastocoel adjoming ectoderm. The unoccupied portion of blastocoel persists as

) 7 506 890 0THFYQS D550 e ey S Hookns
De8r08 S oo ariod Jre Sotnod. Hoans Hediros S i
270 & G708 WA &0EN0B.

Options :
Haemocoel
1 B8 Boardo

Schizocoelic coelom

i D238 68 BoS>d0o
2.

Enteocoelic coelom

, ol 68 Bordo

3.

Pseudocoelom

s 66 BoG0o
4. v

Question Number : 44 Question Id : 4509385804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Bilaterally symmetrical animals are more efficient in seeking food, locating mate
efe.

Reason (R): Cephalization.

DFIH0 (A) : B 2arE2S raded 2OHON BIFY Daarda, dofpBA
368 §9,05¢50 5083 (SAHOS” 380383 e BaI080mT Soerow

5080 R) : 36

Options :

Both A and R are true. R 1s correct explanation for A

ANBAM R AZ0.ASR AT a6
1.9

Both A and R are true. But R is not correct explanation for A

A HBOM R A20. 550 A SR OB 223862 5°¢D

A s true. But R 15 false

A Q230. 5% R 0230 5°¢0

A 1s false. But R 15 true

A Q20 5°CY. 5% R Q220

Question Number : 45 Question Id : 4509385805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-1 List-2
A | Masteells |1 | Antibodies
B | Histiocytes | II | Serotonin
C | Plasma cells | IIT | Fibres
D | Adipocytes | IV | Phagocytic cells
V | Storage
1808 a¢3Q 26508005
D00-1 2283d-2
Al &g Seren | T | (D3 85 57w
B | 5T I | 2EES DS
C | Fary Searen | II | e0ed0)en
D[ DATFDEY | IV | 2558 Seren
V| Qensd
Options :
. A-II B-IV C-III D-V
1.
A-V B-I C-IV D-II
2 ®
A-TIT B-IV C-V D-1
3 %
A-TI B-IV C-I D-V




Question Number : 46 Question Id : 4509385806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Statement I: Flame cells in flat worms help in osmoregulation and excretion.

Statement IT: In chulopods maxillae are modified into gnathochilarum

©9030-1: 20D HODOES 2= jerderen (G, DGSS S dmron

©9030-: 35 arG ©F 20850 Erarosto Tod SSTBAN0 & ) DT
Options :

Both the statements I and IT are correct

@O0F*N I, T QD da)

1.
Both statements I and II are false
, Q0TI D 26 5%
2. %
Statement I 1s correct. But II 1s false
. @030 I QD). 55 II QTS 3¢
3. -
Statement I 15 false. But IT is correct
030 I AV 5°CN. 5 I QT IE
4, %

Question Number : 47 Question Id : 4509385807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following and pick up the correct combinations:

S. No | Class Features Examples

I | Crustacea | Green glands Balanus

II | Chilopoda | Poison claws Spirostrepiiis
III | Diplopoda | Malpighian tubules Scutigera
IV | Insecta Three pairs of jointed legs | Lepisma

1808 TR ©¢50DHN0 TR OB V0O (hBodod

JQ.00. | dertfo | o8 sren GTRrOHeY
I | 0ok | b focden DT

I |3SY@ | aede) NGFEN

I |69

5P 1205 S T9Een
ST 2660 8807 (o) 580y | T

V| 30F

Options:

I.II

1. %

II. TI1
%

1. 1V

LIV

Question Number : 48 Question Id : 4509385808 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Skull 1s monocondylic in

2,8 @ Sare> 5065 (monocondylic) o)) B RS 22oden
Options :

Pisces. amphibians and reptiles

DN, ERONITTEN, DODYTeN

Reptiles. birds and mammals

HOByaren, Hiven. § Scren

Pisces. reptiles and birds

DD, DBDYTeN, HEvEW
3.¢

Amphibians. reptiles and birds

&250DHTreD, HBJHaren, HJven

Question Number : 49 Question Id : 4509385809 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

Scientific name | Common name

A | Chelone I | Krail

Draco II | Rat snake

B
C | Bungarus | III | Wall lizard
D

Ptvas IV | Green turtle

V | Flying lizard

1800 83 26808508

Q0D N0 GO %0
A | 8505 I | 4850
i & =D
B | (Z°8 II | Z106°CD
C |omsd || fFead
D | ¢ IV | e350a)3) ) e e
V | QA8 29
Options :
A-TV B-V  C- D-III
1. %
A-TI BI C-V D-IV
2. %
A-ITI B-V  C-II D-I
3. %
A-TV B-V  C-I D-II
4.¢

Question Number : 50 Question Id : 4509385810 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Type of pseudopodia present in Fughpha

AW S &t 85708 TOES METZITTEN oHOETON

Options :
Lobopodia
o Y ARNIRIOVVE
Reticulopodia
. 53505 A AT
Filopodia
S FRIT
3.¢
Axopodia
DE A0
4,

Question Number : 51 Question Id : 4509385811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct statement

180& 73S DS @07, HBothod

Options:



In binary fission two daughter euglenae develop new flagella individually

B ST & 50° DS )G DO A aren & §0e50|om Ea2reed

SEANRTAER Yol A oW
1. #
Longitudinal binary fission is seen in Englena
. QWIS Qe O STTEAD IS 2D HAOE
2.
Contractile vacuole 1s retained by daughter euglenae from the parent Euglena
H08H885% SO Ao Hod DO chriiaren srocheron
3. % ' '
Anterior daughter mndividual is opisthe and posterior 1s proter
B LAY IS £2ti06T DEIERD DO B 2D @),
i HBeFH0S DBIBD DO 2B |6 @0er
4, )

Question Number : 52 Question Id : 4509385812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Infective stage of Entamoeba histolvtica to man

DOCIV2T T BEI5 AT3HDE SOENOT &%
Options :
Tropozoite

A Eve W)

1. %



Precystic stage

e § 8 54

Tetranucleate cyst

£5eh2.01¢58 §¥0

4. &

Question Number : 53 Question Id : 4509385813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

Disease Causative organism

Filariasis I | Wucheraria bancroffi

A
B | Malaria II | Haemophilus influenzae
C

Amoebiasis | IIT | Plasmodium vivax

D | Pneumonia | IV | Entamoeba histolvtica
1508 &R BedNED0G

PRI 508 229
28808rdR |1 | BsB8alr aros
HBOAF |1 | FIrDO0 RS ArOF
@NAATVR |1 | 9dabo Ja8)
SFEA0ST | IV | Dodedar argreeise

g T W= =

Options :



A-1T, B-Iv C-H D-1I

A—1III, B-IV ¢€-I D-1I

2. %

A-L B-III C-IV D-1II
3.v

A —TILL B-1 C-IV D-1II
4. %

Question Number : 54 Question Id : 4509385814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the sequential life stages of Plasmodiim in mosquito

A. Sporozoites

B. Zygote

C. Oocyst

D. Sporocyst

E. Sporoblast

ENS B0 8Deh HFID B 1850065 HBoTHaW

A. &F)T2r00tW

B. Soaingdzo

Options:



L Bl Py E

1. %
B.D,A.C,E
2. %
,x DBEAL
B.C.D.E,A
4. ¢

Question Number : 55 Question Id : 4509385815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The muscles help in the movement of the mandibles of Periplaneta

DO TEr S FAH EAODEOE SFOHHT Sochoren
Options :

Adductor and abductor muscles

29058 SHBAD 9238 EodsTren
1. ¢

Dorso - ventral muscles

DI&IES Socsoren

Alary muscles

D55 S0CATeN



Dorso - longitudinal muscles

. 0% BODE EOBT e

Question Number : 56 Question Id : 4509385816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
This part of the central nervous system is the main motor centre in Periplaneta

DOTTEr BOITE 55965 & 2riisin s wred Soltdo

Options :
Brain
D

1. %

Sub-oesophageal ganglion

&S 3558 ey d v Hod

Circum oesophageal connectives

TP O aT S L0335

Ventral nerve cord

&8 o Sodcko

Question Number : 57 Question Id : 4509385817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Comparatively these are less harmful to the organisms

T E0M D) 22a)®B) 550209 235 DT 0w

Options :

Ultra violet - A rays

. 2983 XS ored — A 8&eTeen

Ultra violet - B rays

983 HeyeS'Sreh — B 8%egren

Ultra violet - C rays

2983 DerS ored — C EHeTren

X - rays

X - 8%¢coren

Question Number : 58 Question Id : 4509385818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correct statement

DB @oF) HOowhod

Options :

90 % of CO; 1s found in atmosphere

. 90%CO3 TERSGEANS S0NOA
1,



Nitrogen 1s very less in living organisms

290 S8 wrer 65358 aronsS HoEnod

Phosphorous cycle 1s an example for sedimentary cycle

y S0 HOON0 8953 D HOAFVE TS
3. e

Buming of fossil fuels does not increase CO7 i1 atmosphere
Feres ROGTED OG0B0 IO FeIS0S COs F°0D
R lelaley

Question Number : 59 Question Id : 4509385819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-1 List-2
A | Eutrophication I | Demand of oxygen
B | Biomagnification II | Natural ageing of lake by nutrient enrichment
C | BOD [T | Increasing pollutant concentration at
successive trophic levels in aquatic food chain
D | Cultural eutrophication | IV | Human activity accelerate ageing process of lake
800 3R 2e3GH0d
20 -1 200 2
A | o D80S I |8y Goirok
B | 855 &3:58050 I | 8 DT D80)0) T dQ G gcﬁﬁ
NGB Der T80
C |BOD I | E3 esi¥8iy Fencde endsdo meses 2.8
A8 o0 b0 02 e roms A0
D | £0)86 creTD8ad | IV | drds o7 dOS0r HE0S d8)E
Q8350
Options :
- A-1L B-IV. C-1 D-III
- A -TIL B-II. C-IV. D-I
- A —TIL B-IV., C-1I. D-II
A-TI B-II. C-1L D-IV

4.+




Question Number : 60 Question Id : 4509385820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following digestive glands are found in the wall of intestine

& 1808 ¢3S & 28 (o 2D A QDT ow
Options :

Cardiac glands and pyloric glands

S5P0% |fochen B0 2388 AV [Hodhen

1. %

Pvloric glands and oxyntic glands

268 QG (Hochen LH8ain e38 y0e3S |fochen
2. %

Fundic glands and pyloric glands

DOEGS (HodHew N8 288 DG |fodven

Brunner’s glands and crypts of Lieberkuhn

250925 (50N 2805 ODBERS harsen

4. &

Question Number : 61 Question Id : 4509385821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Imagine that you are dining with your friend in a hotel. Suddenly your fiiend starts coughing while

swallowing food. This coughing s attributed to the improper movement of

D8 D DAHAES O 28 F0S S S50 T E050A. DoTEYI
DD TTET Giicto INEBEFD. S ATE0 BT, @IV SO SO
aer (O o0, G0

Options :
Epiglottis

1.4

Ribs

D 8w

Palate

SN

Diaphragm

27238 DEIOOO/EESS ATTPO0

Question Number : 62 Question Id : 4509385822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statements

I.  Vems are bright red in colour and provided with wide lumen

II. Vems are non valvular and blood flows in veins by jerks,

ML Arteries are provided with thick tunica media.

IV. Veins end in capillaries and arteries start with capillaries.

90 Ml hlotod

L 0660 Beéb 65y B0 G0k, DTS ST $OR &otron

L 0 SrEraom Gotron Soo AEOS 350 HIHOS (Nardod

I Gaed)® B0CHE DEC)§ SOTNTO0 D00 GOLVOE

V. Dy THodlanm @oddymon HBA Sdden SHardiod
[PO02aNa)E 0

Options :

I and TV

III 603 IV
1. %

Iand IT

I o080 I
2. %

III only
IIT 55765 30

IV only

IV S35 o)
4, %

Question Number : 63 Question Id : 4509385823 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time
Time: 0

Correct sequence of events in the formation of urine

507650 DB D I0S R 5%e> DB S 1o

Options:

Reabsorption — Tubular Secretion — Filtration

23T — TDS® |0 — TPOS0

Filtration — Tubular Secretion — Reabsorption

TPOS0 — TP |50 — )28 Aed

Filtration — Reabsorption — Tubular Secretion

TON0 — HI2F s — DY | D0
3.¢

Tubular Secretion — Micturition — Reabsorption

PS5 |0 — DBIBAS — Y32 e

: N.A Minimum Instruction

Question Number : 64 Question Id : 4509385824 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time

Time:0

: N.A Minimum Instruction



Match the following

List 1 List 2

Zygomatic bones | I | Smallest bones of the face

==l S

Lacrimal bones | II | Strongest of all the facial bones

C | Mandible III | Keystone bone of the cranium

D | Sphenoid bone | IV | Cheek bones
1508 A &¢% DO

0 1 DO 2
A| 2RSrES dawden [T |8 D) g dedngen
B | e ©0den T | 508 dei0dOS Gacded dai0d
C | sy I | $7e06 §0)8 el
D | 2388a%0 IV | Tod dedngen

Options:

A-TV B-I C-1 D -1

1.9

A-1 B-1 C-IV D-1II
2. %

A-III B-1I Ei-1 D-1IV
3. %

ATV B-1I C-HI D-1I
4. %

Question Number : 65 Question Id : 4509385825 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the cramal nerves that are mixed among the following
I. Trigeminal

I1. Hvpoglossal

ITI. Vagus

IV. Glossopharyngeal

1808 QS MFH Ered oD hiotod

I (eSOt

II. 225 503 aeEh

L °(5Q °C

TV, 2237 550w

Options :

1% LII&IV

I, 118 TT1

1T & TV
3.v

II only

IT 3507|655
4. %

Question Number : 66 Question Id : 4509385826 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Thymosin play a major role in cell mediated immunity

Reason (R}): Thymosin promotes the production of antibodies
D30 (A): BIrRR 86 G586 81 ABRESES 57 ar( FeD0d
S360 (R): BT [DBBFO8 dBIGNE0S D5F0DNE 00

Options :

A and R are true. R is correct explanation for A

ADOCM R A20.ASR A0 eaed

Aand R are true. But R is not correct explanation for A

- A sHBCN R A20. 5% A SR A0 aaaded 5°¢D

A 1s true. But R 1s false

. A D230. 5% R 230 5°CD
3

A is false. But R 1s true
. A Q20 5. 5 R 0230

Question Number : 67 Question Id : 4509385827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Removal of this gland results in the death of an individual

&2 505 FOAR 0557559 ¢8 DBEFT ¢

Options :

Adrenal cortex

STRISREIIN ISP STe



L e SWDAZO
Thyroid gland

- Boron G |0d
Thymus gland
e E

" Do (O

Question Number : 68 Question Id : 4509385828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Proteins that help in the destruction of the infected cells are

56 rOEE ZeTdd DDISL0 TR (730D
Options :

Caspases

] £,
¢ STRIBR

Lysozymes

SIFB)

2. %

Colostrnun

5SS D

3. %



Interferons

FOLD DTN

Question Number : 69 Question Id : 4509385829 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Proteins that form membrane attack complex are

¢ 2250 HOSHTR) DEIOT 5°¢3eD

Options :

Cytokines

1. %

Interferons

R0LE DT

Interleukins

Q006580

Complement proteins

, DBIPEE (8D

Question Number : 70 Question Id : 4509385830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify mcorrect combinations among the following

List-1 List-2 List-3
[ | Hyaluronidase Released by acrosome Dissolves zona pellucida
II | Placenta Somatomammotropin Increased availability of glucose

and amino acids to foetus

[T | Hypomere Somatic mesoderm and Gives rise to pericardial cavity

splanchnic mesoderm

IV | Secondary Meiosis-II Large spermatid and small polar

spermatocyte body
808 8S 205 DEV0YOD HBood:
D0R-1 202 2003

[ | FoSrendRzEs | JEEm Ao 005 & 60008

DO

I | 2000 DS IIYE DN | 1FEE, S elren o

D08 W0

| Srarfnohd | QrsreSE, o) 085 | amyioimedtie a3 80 )8 )C8E0
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Question Number : 71 Question Id : 4509385831 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
[dentify the incorrect statements among the following
I The use of amniocentesis was banned m 1970,
II. Cervical cancer was caused by Herpes Simplex Virus
II1. Copper bearing [UDs. progestogen are emergency confraceptives.
IV. 3-D cross sectional picture of CAT scan 1s called tomogram.
808 S 3D T F 50D H8008 .
L 19706 &0)SsS 508 30 ARnodowG0s
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Options :

IIV
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Question Number : 72 Question Id : 4509385832 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Identify different types of intra uterine devices among the following
A) Lippes loop
B) Vaults
C) Multiload 375
D) LNG-20
E) Diaphragms

Bo® 5735 DG B5eey forydairoesd rdaren H8otiod
A) DIV OFD

B) 9.

0) HDSE 375

D) LNG-20

E) CAQ3T|2da) €0

Options :

Question Number : 73 Question Id : 4509385833 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Haplodiploidy 1s a mechanism of sex determination that is common in

D% €550 VBE HABS Dol ATBeIed 2 SFTFELIOM 5550 DO
Options :

Cockroach
008

1. %

Birds

D J0eN
2. %

Bugs

AN
3.%

Wasps
yv 5008w

Question Number : 74 Question Id : 4509385834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The mereased sodium and chloride content in sweat and increased resorption of sodium and water

from respiratory epithelium are genetic defects of

300 S FAODO, FTE HBTE0 DAAEI0 O F535 S Sere) HOG

A0, DA Yo 369 9OLDI0 & BgeT ) ©F P

Options :

1. %



Chronic myelogenous leukemia

15°08 S 2B ID engBasy

Duchenne muscular dystrophy

DT D) 506S §eaed

Cystic fibrosis

3.¢

Thalassenua

A TSYVRTA Ve vy
4. %

Question Number : 75 Question Id : 4509385835 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The sequencing of whole set of genome containing all the coding and non - coding sequence is

referred as

DNA &0 Fwdo SSzAsTe Saof, T S0l S8 Erod dTsod
AT
Options:

Sequence annotation

v DD (B 75850

2. %



Single nucleotide polymorphism

D8 ST BB DITVETDHEES

Expressed sequence tags

. 53585965 S5E0e 3¢ e

Restriction fragment length polymorphism

. DT Ieh (2050 5 POBOD SNELe 22TVETDHES
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Question Number : 76 Question Id : 4509385836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): The Y Chromosome has no role in the determination of male sex m Drosophila.

ot (R T ) s, S el ik il

DBB0 (A): ([GFDerBn Qo AT 9 S Y SRS § NS0t (e Beb.

$U00 R): X0 38 D 22 hde TS HE Sren Do daradormr
CeOETOW.

Options :

A and R are true. R is correct explanation for A

A DB R A20.ASR OB 20889

1. %

A and R are true. But R is not correct explanation for A

A NBAM R A20. 5°A A S R AT 2382 5°¢0
2.



A is true. But R 1s false

A Q2Z0. SO R Q&0 570
W

A 15 false. But R 1s true

4w A D230 5°CD. 5% R @220

Question Number : 77 Question Id : 4509385837 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Cynognathus 1s an intermediate form between

BADST) SO DE3 DT 50658 EFHO.

Options :

Pisces — Amphibians

ST JECN) — IOV TITEN

Amphibia — Reptilia

Ee230NWTTEN — AODyarew
2. %

Reptilia — Aves

i DB S Yaren — DJoen
3,

Reptilia — Mammalia

v HBJYaren — § Sren



Question Number : 78 Question Id : 4509385838 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The change in the frequency of a gene that occurs merely by chance and not by selection m small

populations is called

%), BTTS 3080 SO FRHOT OG0T B TS0 267

ST I B DGO 5ePO .

Options :

Hardy — Weinberg law

350 — oS0 dohavo

Sewall Wright effect
DO B (H2rS0
2. ¥ = -
Founder effect
- LTS P TANTo!
Gene flow
230§ [P0
4. % -

Question Number : 79 Question Id : 4509385839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Toxoids are the vaccines against

EFSI0NE ) & TN THOE B E35°ew
Options :

Diphtheria and Tetanus

BRBAST. 363755
1.¢

Polio and Rabies

., SO BH%
Cholera and Plague
S0, h

3. % -

Rubella and Mumps

. B023C7, Haddien

Question Number : 80 Question Id : 4509385840 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-1 List-2
A | Omega 3 fatty acids | I | Scrap fish
B | Fish guano I | Fish liver oils
C | Shagreen III | Fish embryos
D | Isinglass IV | Dried skin of sharks

V | Arr bladders of cat fishes

1508 3R 26835908

T e G -2

A 2303 5oy 5 @eren | T | (@2 Tade

B | DM I |35 58ah Sraen
C|arfio I | 335 DOC Chden
D | 90200 TR IV | &0 T D0GS 19820

V | 29 B0 J0&S mdeehen

Options :

A-II B-I C-IV D-V
1.4

A-IIT B-I C-1V D-II
2. %

A-II B-I C-III D-V
3. %

A-V B-IV C-I D-II



Physics

Section Id : 450938125
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0

Is Section Default? : null

Question Number : 81 Question Id : 4509385841 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two resistors of resistances (20 +0.2) Qand (10 + 0.1) (0 are connected in series. The equivalent

resistance of the combination 1s

(20£02)0 HBak (1040100 ey o Bod AFBsey (3ES

Options:

100 +1%

300 £ 2%

100 1+ 2%

300 + 1%



Question Number : 82 Question Id : 4509385842 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A man walks up a stationary escalator in 80 s. When this man stands on the moving escalator. he

goes up in 20 s. The time taken by the man to walk up on the moving escalator m seconds is
D10 VDS’ &) 2.8 B0 2 2.8 368 Schiotar 80s oS 8 Derdd.
o 558 oS &) ABLE D Joaddad b 205 © S 8
D). @00 06 &) JSHE D BT S8 StHB0er DETHEL
D00 EHOES

Options :

Question Number : 83 Question Id : 4509385843 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A boat man finds that he can save 8 s in crossing a river by quickest path than by the shortest path.
If the velocity of the boat and the river flow are 13 ms ™" and 12 ms™ respectively. then the width
of the river is

30865 S 2.8 58 e DS e 580 DAY B S0 & 53T F$0g &0

HOT 2,8 SO VL) I 4T 8s T BT TONID,) @) STy . ko)
B0 S [P 31ee0 DM 13 ms~ HOAN 12 ms™ NS, O Fchen)
Options :
65 m

1.4

56 m

75 m

57 m

Question Number : 84 Question Id : 4509385844 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The speed of a projectile at its maximum height 1 T times its mitial speed. If the range of the
projectile is ‘»’ times the maximum height attained by it. then ‘n’ 1s equal to
. W e o 3 iy A T
2,8 (93 50 Gy HOELS) 8 3G & TR SO B8 %6@ GOLNOB. & |93 %0
TB0E), arga). @6 PO (OFS) B8 n T GOT, ) ‘0 DN

Options:
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Question Number : 85 Question Id : 4509385845 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A car 1s moving on a horizontal curved road of radius 50 m. If the friction coefficient between tyres

and road is 0.34. the approximate maximum speed of the car will be nearly

28 50 50 2 asrdo fie §8z darosd HFsE 0 D HOrETod. s
0%, 5 8§ Hicsse e Hedo 0.34 wond, 586 Wairedodie 18 o
QD

Options::

3.4ms™!
1. ®

224 ms ™t

3.¢



13ms™ !

17 ms~ !

Question Number : 86 Question Id : 4509385846 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The blocks A & B weighing 100N & 250 N respectively are placed one over the other as shown in

the figure. Block B rests on a smooth surface, The coefficient of static friction between A & B 1s

0.4. When F =250 N, the acceleration of the upper block 1s

(Take acceleration due to eravity, ¢ =10 ms ™2
L ‘: L

A 5000 B &F Todh B ¥ AR HOEBVES H0oS Brdd ddor
GOUDATON. a7¢3 2FGanen SHNT 100 N HOAW 250 N. B & Hady )&
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Options:

8.4 ms 2
1. %

25 ms™?



6 ms

21 ms™2

Question Number : 87 Question Id : 4509385847 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The momentum of a body of mass 2 kg is 10 kg m s, A force 2 N acts on the body in the direction

of motion for 3 5. The increase in kinetic energy is

2 ke (3035078 110) o300a3) (€398 D10 10 kg m s, 2 N 200 ) [H0STed IS 5 D

$O0 HEN DADONA0 O DB (i3S

Options :

10017
1. %

7517
2.

125 J
3. %

5017
4. ®

Question Number : 88 Question Id : 4509385848 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Direct solar energy is incident on the horizontal surface at an average rate of 200 Wm ™2 If 20%
of this energy can be converted to useful electrical energy. how much area is needed to supply
8 kW?
§ 82 DST0BS 07 200 Wm? HHENTENS Aenshir FBHS HeSaTeod. &

FEIES 20% S IADOD DAsdET STFEYIONS, SkW DS D Géd)E
BoHERS O 1% o

Options :

1000 m?

100 m?

200 m?
3. ¢

2000 m?

Question Number : 89 Question Id : 4509385849 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A motor car is moving at 40 ms~*on a circular road of radius 400 m. If its speed is increasing at

the rate of 3 ms 2. then ifs acceleration is

TG0 400 m (10 SYTFE srdo 8 FrErd S 40 ms™? SAS HODS)H.
SrErE) S 96 3 ms™2 DS w3y @ TGP HOT T 35890 e

Options :



3 ms 2

2.7 ms ™2

5ms

3.3 ms ™2

Question Number : 90 Question Id : 4509385850 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two objects of masses 2 kg and 5 kg possess velocities 10i ms™ and 3i + 5 ms ™! respectively.

Then the velocity of C.M. inms ™" is

2 kg VOO 5 kg 9350700 62 BOC 23N a)e SN 10i ms™t BN
31 + 57 ms L ST $O0 ot 763 8555078 S0 TE}, Ko ms O

Options:
5i — 25]
1. % I .
5i + e
Pd—]
2. 7
__._ 25_
7o J



251 ——j
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Question Number : 91 Question Id : 4509385851 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A simple pendulum with a bob of mass ‘m’ density ¢ and length | is immersed in a liquid of density

p. If it make small oscillations, then time period of pendulum 1s
1 8¥¢ad) t10) 28 @30S 8055 o) HO 1855079 ‘', o[ 6. & SOF) p

PO 10 1508 500D SOE0 D), FoNTren T, ) 85U

507
Options:
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Question Number : 92 Question Id : 4509385852 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The period of oscillation of a particle i simple harmonic motion is 4 s. and its amplitude 1s 4 cm.

Then the distance of the particle in . seconds after passing the mean position

NEST08)8 BoR0 B 28 §00 GnE); §030 HOMES 4, TR GO
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SER500 45, @ONE & §00 = ED FOOS 5D N0 Do (HATFEBODN
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Options :

1.5 cm
1. ®

3 cm
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5 em

Question Number : 93 Question Id : 4509385853 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

. ' . -
The depth ‘d’ at which the valve of acceleration due to gravity becomes — times the valuve at the
n

surface (Radius of earth - R)
2570 G000 SO HXES ch 380 g, 2T EIBSL0 OB A0S SRS )

506 £ £ 5630 Denss i 5 5085 SHBH0E (D Fr0-R)
Options:
R
Il

1. %

n—1
R(5)
n

2. ¢
n
3 % R(n + 1)
R
n?
4, %

Question Number : 94 Question Id : 4509385854 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A block of mass 100 g 1s attached to the end of a stung of unknown material of 50 cm long and
cross-sectional area 2 em?. When the block is whirled horizontally at a constant angular speed of

40 1ps, it moves along a circular path of radius 52 cm. Yong's modulus of the material is

50 cm ¢hed). 12 em? CDE'S F50 o) 2.8 BOHA Hrdod T A 2.8 5%
100 g|¢3e35T3 (e 3302080 86780, 3 B30 VY T I 401ps &' § B2 dedr0dS
SO0 3200 ©6 52 em T30 (0 SHTSE oS B6Rod. wond &
& S8 ool theado

Options :

6.4 X 10% dyne em ™2

1. #

16.64 x 10® dyne cm™2
2. %

4 x 10® dyne cm™?
3. %

8.32 x 10® dyne cm ™2
4.

Question Number : 95 Question Id : 4509385855 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The reading of a pressure-meter attached to a closed pipe (with water) is 3.5 x 10°Nm 2. On
opening the valve of the pipe the reading is reduced to 3.0 X 10°Nm™. The speed of the water
flowing out the pipe is

AEE 0NN IO TR S T8 @812 26 %0 3.5 X 105Nm™
BBON FRD08. AR BEDSNE 2t S7)80 BEON 3.0 X 10°Nm ™% & 0.
©900® 2.7k A3 o

Options :

10 ms™1
1.+

0.1 ms™ 1

1ms™1

3. %

5ms

Question Number : 96 Question Id : 4509385856 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
200 g of water is heated from 40°C to 60°C. The change in its internal energy [No expansion is
taken place] specific heat of water is 4200 T kg™ K2
200 [P0 3R 40°C 0 60°C Ho S Drch. A EVOVTEHHA 0
906585 355 780 10 BEL0B0G. D3 DIFRO0 4200 Tkg L K1

Options :



16.8 KJ

1.¢

10.8 KJ
2. %

8.4 KJ
3. ®

14.8 KJ
4. %

Question Number : 97 Question Id : 4509385857 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A 25 kW drilling machine 1s drilled for 4 minutes to bore a hole i an alummium block of mass

20 x 10% kg, If 40% of the work done is utilized to raise the temperature of the block and if the

specific heat of aluminium is 0.9 | ke K™ then the raise in temperature of aluminium block is
a0 20 X 10° kg ©0 $O @A B0 28 501850 BOHERS
25 kKW 3508 59 T 0O 4 000 06, AIS 40% 3 e fed
TS OTAIG0. ®OFEEMAN0 DITA 09k KT @ondd
©OFRAN0 OIS WOA G|
Options :
266.3°C

1. %

66.66°C
2. #®

3.¢



133.3°C

TOC

Question Number : 98 Question Id : 4509385858 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
= Q : . ; .
A diatomic gas does a work of e when a heat of Q 1s supplied to it. Then the molar heat capacity

of the gas 1s

28 O5GITENS AN DAN AR DENS % A8 923508 Galald eV Q
9oL, & PO Irerd Garrde arndso
Options :
C=3R
1. %
5
C=—R
3
2. %
c=tig
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Question Number : 99 Question Id : 4509385859 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is incorrect regarding the first law of thermodynamics?

SRHE B Q TS AANNO0 1H5°80 &8 (808 T3S HFTIE .

Options :

It introduces the concept of mnternal energy

285 9065065 48 277530 DBVANO TNOE

1. %
It mtroduces the concept of entropy
B0 DO 5O HOWAHO BRO
2. ¢ )
It 1s applicable to any cyclic process
20 HIEAD (DEAHZD @SB
3. % } .
It 1s a restatement of law of conservation of energy
L 3o 38 Qebged ¢ ATErRS B0 DdGEIAD [DBTENOE
4,

Question Number : 100 Question Id : 4509385860 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At a given temperature. arrange the gases hydrogen. oxygen. nitrogen m the order of maximum

rms speeds
2,8 QG36 &I 11165 30 (B0, 88120, TE B Fahod 3 118a) ms
DO D3 SO 1$a0o (HBod0d.

Options :

Hydrogen = Nitrogen = Oxygen

TEBO > [EBES > a8 Hzd
1.4

Nitrogen = Hydrogen = Oxygen

DTS > E2S > e38)3d

2. %
Oxygen = Nitrogen > Hydrogen
s8y38 > DSBS > BB
3. %
Hydrogen = Nitrogen = 0Oxygen
. TeBS = BEES = 68)ad
4,

Question Number : 101 Question Id : 4509385861 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



On a sonometer. the lengths of two wires are in the ratio 35 : 34. diameters are in the ratio 4 : 1,
densities are in the ratio 1 2 and the tensions in the string are in the ratio 8 : 1. If the note of
higher pitch has frequency of 350 Hz then find the frequency of the beats produced when sounded

together

S DB 505 Bk e chade) D) 35 : 34, 5T A 4 1, F0|SO
DB 1:2 HB0 BSOS ddzden 8:1 ANES daryan. & Fodos S

D803 Se)350 350 Hz 0 @aN:d, 3R 230 0D0NBAS A ds

Options :
20 Hz

1. %

7 Hz

10 Hz
4.

Question Number : 102 Question Id : 4509385862 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Three glass slabs A, B, C of different media are arranged as shown in the figure. Refractive index of
B 1s 1.3 and the refractive index of C is 1.7, If the number of waves passing through A are equal to

the total number of waves passing through B and C. then the refractive mdex of slab A 1

36 36 ADSTOS ST Tahaed A B,C & T e Gxgen HE0S P
DO 9:8 0BT, BITFa (8P (heo 1.3 0050 ¢ e S 58Seso
1722 ASS [OSTEIRD) SB0me HomsTrE°B HBOMN € S (H0ireday Zntho

SEOTT HODH NXTR. T A T0E) HSBH HEFEO Nod,

— A —
o o C =
41— g¢—1—P
Options :
1.5
1.¢
1.6
2. %
3 % 1.2
4% 1.0

Question Number : 103 Question Id : 4509385863 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In young’s double slit experiment, the intensity on the screen where the path difference between

the two terfering waves is A is K. What will be the intensity at the point where the path difference
A
8=

4

oofi AR08 (NABRH0S BUNE 588800 Todh Sdome Mds HETE0 A

&3 DoY) 0 08 (56 K oy, ¢ B0 % ) 0e) NG S0e

@Iﬁ@fﬁb
Options :
K
1. % -
K
2
2. ¢
K
3. %
Zero
4, %

Question Number : 104 Question Id : 4509385864 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two like charges are separated in air by certain distance. The air is replaced with a dielectric

medium of constant K. Then the repulsive force between them.

Boch 2.3 5500 &3 rOS 508 Erdane Gotadta. TO acen K &3
538 V008 e 0FS%ned 8 Both ST s oD, a8 s de

HOARAIS AW



Options :

Decrease by K fumes

K 3@ @ﬁ@fﬁ}

1.¢
Increase by K tumes
- K 3 2B0HeD
No change
DEND0E3 S ) GOCEED
3. %
K2 times decreases
K2 B0 edhHedd
4, ®

Question Number : 105 Question Id : 4509385865 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The resultant capacitance of parallel combination of two capacitors Cq and C 1s 20 pF. When these

capacitors are individually connected to a voltage source of 1V. then the energy stored in C21s 9

times that of Cy. If these two capacitors are connected in series, the resultant capacitance value
C1. C2 SPRAD O eir0eddi SO ae) ) 3¢ e SaPvtin) 20 uF. &
B 500 O DANET 1V Dend EDAS ST 235508 Eennadd ) ¢
S0 S Dend &) 38 Dens 1S Aers &), 98 §0% 9 BEY e96%0. & Boch
300 08 [3BS 50D 73 9O TrRHT ) Densd

Options :

1. %



1.4 uF

8 uF
2. %

18 uF
3.

1.8 uF
4.

Question Number : 106 Question Id : 4509385866 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A unit positive charge is moved from point A to point B by a distance of 20 cm, on an equipotential

surface as shown in figure. The work done to move this charge 1s

HRENS TS 28 e 48] G050 S A ©F Hoche) D00 20 em (rE0ES
(1) B @95 20CDI, 28 0508 O30 200230, @00 20N DR e

A

Options :

27
1. %

2. O



Question Number : 107 Question Id : 4509385867 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A metallic wire of resistance 30 Q is bent in the form of an equilateral triangle. The resistance

between any two vertices of the triangle is

30 0 DB o) 2,8 S'37) B 2.8 He0emT0 |BLDEFTHOT SotRSE. B
(@220 T8, =) BO T S (e AT

Options :

3.67 Q

L]
L]
Lo}
:‘:I

Question Number : 108 Question Id : 4509385868 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given circuit the currents are I; = 5A, I, = 10A and [ = 15A. Analysing the circuit using

Kirchoff’s laws, then I, I; and I, values respectively are
369 522608 SOADOS R DS (NasFen I = 54,1, = 104 HBAW I, = 154. 8
LN GHRPAOD & S0H0 DINODS I, I, I eV DT

Vo

Options :

1. &

Lb=154, 1;=54, ;=154
2. %

Lb=24, I1=44  I,=154
3. %

I,=—154, 13=-54, 1,=54
4. %

Question Number : 109 Question Id : 4509385869 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A conducting rod of length "' and mass ‘'m’ is placed over a smooth horizontal plane. A magnetic
field B is acting perpendicular to the rod. If a charge ‘q’ is suddenly passed through the rod and the
rod acquires an initial velocity v on the plane surface, then charge 'q is
SC5s3T19550°9 ' 110 2.8 TEPE 5B D § B2 DesroBE 007 GO,
B8 ©0OIS B echr 06 3 @) (NRFH0TTE. ear e @ 8390 §¢¢
SO0 He0d &6 B0 ¢ v od VOV &BF0 ¢

Options:
mv
Bl
1.4
1
Bl
2. %
muv
Bl>
3. %
1Bv
m
4, %

Question Number : 110 Question Id : 4509385870 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a Galvanometer, if the number of turns i the coil are doubled. then the electrical current

sensitivity will be

24 PO 0D S SHHBS D8 05D 50D TAGHD T kS

|2aTaF (D)) 368 50



Options :

Halved
SlaPv iVl
1. %
Sensitivity is independent of number of turns in coil
SBHHQS'D THE) HOWER DR eh S0 TEDHED
2, ®
Doubled
- B3E305:9e0 06
Four times the mitial value
) FNEES DENSFO TeeND B0

Question Number : 111 Question Id : 4509385871 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Relative permeability (i) of a sample 1s given by 1 < i, < 14€. where € 15 a small positive

number. Then nature of the sample is

28 DT By 8. DOINNOE 1 < i, < 14€ (B8 € 50 O NODS) T

Qo) 1, &3 ST Y 1270

Options :

Diamagnetic material

CH05° @ODA")0ed HTTQO

1. %



Paramagnetic material

- T 90D 06d HrQo

Ferro magnetic material

DT @OHR0eh Herdo

3. %
Super conducting material
L w 93T DO

Question Number : 112 Question Id : 4509385872 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A coil having 0.64 mH nductance and 0.8 () resistance connected to a battery of 12 V. The energy

stored 1 the magnetic field created by that coil is

064nH [DEES50, 080 G0 e SHHOD 12V argerds $08, sifhi)
2510% ©ahary08 3 (S0S Ao s Goa 45

Options:

32x 10737
1. %

g1 wig ]
2. %

64 x 1073 7]
3. %

4.+



T2 +]

Question Number : 113 Question Id : 4509385873 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An mductor of inductive reactance 80 () and a resistor of resistance 60 () are connected in serigs to

an ac source. The impedance and the power factor of the circuit are respectively

(D85 B5S0 80 0 o) 2,8 D0 sB0M TG0 60 0 A 2.8 NGO S 2

ac 29508 09GN, SO0H0 B0 LB T30 2G50 SR
Options :

200,04

200,06

100 0,0.4

100 Q,0.6

Question Number : 114 Question Id : 4509385874 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A magnetron valve 1s used to produce

S 8T TEH0 Eeed 1@ TS

Options :



Gamma rays

e 80 eg7en)

1. ®
Microwaves
DS domren
2.
Radio waves
. DA edSormen
X-rays
X-8&eaeen
4. %

Question Number : 115 Question Id : 4509385875 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A proton and an alpha particle are moving with kinetic energies of 4.5 MeVand 0.5 MeV

respectively. The ratio of the de Broglie wavelengths of the proton and alpha particle is

2,8 |PrR HOAM 2.8 BerEI0 SHNT 45MeV D00 0.5 MeV (iBdz $Hed
ST 0. (SFERS SHBck eser) Serer AT S0l BTso S

Options :

Z 3
1.4



Question Number : 116 Question Id : 4509385876 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The ratio of the wavelengths of first and second Balmer lines of hydrogen spectrum is

AR SN0 S 288365 SBAM BOchsd 27605 Bene SSORTTEe Qi)

Options :

4:3
1. #

36:5
2. %

16:3
3. %

27:20
4, &

Question Number : 117 Question Id : 4509385877 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The time gap between 449% decay and 93% decay of a radioactive substance is 81 minutes. The

half life of the radioactive substance in minutes 15

2.8 DA 7O S0 44% §aHo ethEBd snBafy 93% 3 aH0 ebHErsd HEs
570 o556 81 adaTen. DARF O Hrrda) 8 £ £00 Aared

Options :

18
1. %

Question Number : 118 Question Id : 4509385878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the mput frequency 1s 50 Hz. the output frequency of a full wave rectifier is

Qa3d F3ea) 30 50 Hz @00® 2.8 2rQeddoi o H51568 Qe Fredeayads0

Options :

T3 Hz
1. %

Z5.Hz



50 Hz

100 Hz
4.

Question Number : 119 Question Id : 4509385879 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the given figures of logic gates. if the inputs are A=1. B=0 and C=1 then the values of y1. y and

y3 respectively

238 ). T 3770 NS DTN A=1, B=0 000D C=1 ®AN y1, 7208050

¥3 00N IR
Options :
0. 1
1.4
. 1.0
2. %
16,1



1 )

Question Number : 120 Question Id : 4509385880 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In amplitude modulation. the amplitude of carrier signal 1s 28 V and the modulation ndex 15 0.4.

The amplitude of the side bands is
Bod K08 SFHITAS 6. T3 0380 Bod HDS 28 V HOAD

SFCOSBAS A0 0.4, o 2788 5636 80565 5B

Options :
, T

1. %

XN
2.

1.2V
3. %

14V
4. ®
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Question Number : 121 Question Id : 4509385881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The mass of particle X is four times the mass of particle Y. The velocity of particle Y 1s four times

the velocity of X. The ratio of deBroglie wavelength of X and Y is
$690 X OR0E) (35073, $690 Y 925038 rennrh Y, §690 Y J(fo, $690 X DrRs

Ten) B, X B0 Y © GO $60rEd0 S

Options :

ok
h

g B |

Question Number : 122 Question Id : 4509385882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The correct set of four quantum numbers for an electron in a 4d sub shell is

44 D85 5SR DO[TS 5o enih 5250600 Do SO HeDed

Options :
1
4.2 3 —
.
1.4
4.2.1,0
2. ®
4..3,2,+=
3. %
i
L e
2
4, ®

Question Number : 123 Question Id : 4509385883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Electronic configuration of four elements A. B. C. D are given below

A 182262 2p B 1288 2p%3sd €267 2p® DL 1?28 2p

The correct order of increasing tendency to gain electron is

1§06 A. B. C. D @cD TP sTOSE O TS a)r’ieded) Rad 50B08

A. 152 2¢° Zp B. 1% 2§ Ep 3t C 124 21} D. 1s?2s2p°

DOLTR & (HeFOTD (6598 DO [Eeddadd

Options :

C<A<B=<D
1. %



D<A<B<C

2. %

D=C<B<=A
3. %

C<B<A<D
4. ¥

Question Number : 124 Question Id : 4509385884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following sets are not correctly matched?
B0A D deden OO 25O CD?
i. XeFq—sp’
ii. SFs—sp’d
iii. SO3—sp’
iv. SnCh-sp

Options :

i1. 11



il 1V

Question Number : 125 Question Id : 4509385885 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of molecules having one lone pair of electrons on central atom 1s
SnCl. XeFg. SO, ClIF;. BrFs, HO, Xe(s
5058 06 XS 28 2,068 BOL JO[TR €N cd) BENHE DODS
SnCly. XeFg. SO, ClIFs. BrFs. HyO. Xe(s

Options :

3

-3

Question Number : 126 Question Id : 4509385886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 300 K. the value of (tt,y)® of an ideal gas is x m*s ™2, What is the (i) (inm?®s™2) of this
gas at the same temperature?

300 K 836, 208 &85 PO806Y (ttpms)? MEN x M52, AR (igy)? 2N (s 2 \"’_)f_%’s:)
9T Col1ed 236 0eh?

Options :
8x
3m

1.
3m

- Bx

2. %
2X
3m

3. %

3

4, % o

Question Number : 127 Question Id : 4509385887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A few isotherms of CO; are shown below. Identify the correct statements (T3 1s critical temperature
of COnT3=To<Th)

L. AtpomtX. CO; exits as liqud

II.  AtpomtY. CO; exists as gas

. AtpomtZ, CO; exists as liquid

Oy O0E) sl BEN SR (806 3 AN, DO 55O HBododk
(CO2 G038} 0B el T2 ; SHOAW T3« To< Ty)
L Doa) XSG, Cor K0T G0n0d
I Doche) Y S, COy aTaNYT GOV
m Dok z G o (S ,p
EG0ENOE)

Options :

Ly, il

I. II only
L IT o507 €55

II. IIT only

IL IIT 307 (€5 030
3. ¢ :



L. IIT only

I, IIT o307 €h a3
4, % -

Question Number : 128 Question Id : 4509385888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

50 mL of IM HCl was completely reacted with x g of CaCOs to form CaCly. CO; and HyO. What

is the value of x in g?

(Ca=40wC=12w:0=16u)

S0mL © 1 MHCL x g © CaC0s & 58 85500 CaCl, €02 BN H0 O

318008, x DN g OF D0eh?

(Ca=40u:C=12u:0=161)

Options :

Question Number : 129 Question Id : 4509385889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statements from the following
[. For spontaneous reaction. AS;,¢q; < 0 and AH = 0

II. Pressure is an intensive property

ITI. Bomb calorimeter works at constant volume

1808 ¢35 BT T FWEDD HB0THSN

I e0Re3)Eed tOB5E. AS, e < 008050 AH > 0

L. E83e30 208 (13 585255

1L 250025 3 0D VB MIDBSTEI0 S HATO0H
Options :

I. IT only
I, IT S €530

1. II1 onlv
1, III 507|653

I1. III only
1L, TIT o55°| €83

L IL .1

Question Number : 130 Question Id : 4509385890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A solid 15 dissolved mn 1 L water. The enthalpy of its solution (ASOLHE)] is ‘X" kJ mol”, The

hydration enthalpy (ﬂhde 9) for the same reaction is ‘y’ kJ mol™. What is lattice enthalpy
(QMMEH 9) of the solid in kJ mol™?

28 HITTRY 1L IS 50M0md. S8 (Toiea doFd) (A1 H®) X' KT mol’,
A8 9655 IPBAS 0TO) (A4yaH®) " KT mol”, DIITPERY PE3R o)

&

(BuatticeH®) K mol © doéh?

Options :
xt+y

. &Y
(x-y)

2. ¢

3. % f
VX

4, %

Question Number : 131 Question Id : 4509385891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 500 K. K. for the reaction

PCl(g) == = PCli(g) + Cly(g)

is 1.8 mol L™, What is its Kp (in atm) at the same temperature?

(R=0.082 L atm mol"! K1)
500 K o5¢) 1808 t58 550 Ke a)e2)a9 1.8 mol L

PCls(g) == = PCli(g) + Cly(g

D S 5O BA Ky (atm ijﬁéj 2)OEd?
(R=0.082 L atm mol* K1)

Options :

0.738

0.043

Question Number : 132 Question Id : 4509385892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The dissociation constants of HyA are K,y = 6 X 107%; K,y = 6 X 107>, The pHof 0.011 M HoA

s
[HA]
HyA G308}, G 9005 (§06) 39 505 a0

L

solution 15 2.0. What 15 the value of

K, = 6% 1072 Ky = 6% 107
[4%7]

Do) )06 ?
[HA]

0.011 M HA (T390 pH &) 2.0.

Options :

0.036

36 x10°°

Question Number : 133 Question Id : 4509385893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statements from the following
(i)  In gas phase. the dihedral angle in H>0; 15 90.2°
(1)  50% HySO4 15 used m the preparation of HyO; by electrolysis method
(1)  H2021s used in the synthesis of cephalosporin

1808 €3 H0od SO s h8oHodk
() O (SN . H202 S Bor(S 5800 90.2°
(if) DD §389 DOBS Hy0y SOTFES 50% HaSO4 05 EondTRATED
(iff) DSOS S0 Ha0y o SOTTATD

Options :
1. 111 only

i, 111 6307 D30

1L, 111 only

i, i1 2307 BTN
2.¢ :

1. 11 only

i, i 3550
3. % )

1. 11, 111

Question Number : 134 Question Id : 4509385894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correct order of polarising power of given cations

99 3080 SEIOTTRE) (590969 P50 TBEY. O (8570, (hBoHod



Options :

Be™ <K' <Mg® < Ca™

1. %
K—!— - Ca}'- = h1g2+ - Be2+
2.
Ca” = Mg <K' <Be*
3. %
, K< Mg < Ca®* < Be?*
4,

Question Number : 135 Question Id : 4509385895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the reaction of sodrum borohydride with “X" gives diborane as one product, Identify X and type

of reaction.
X & FAaHo 56 37BE D655 BT 28 € )8)0m 8 IcheD. X SHOAM
2335 3806 (H0THM

Options :

I>. neutralisation reaction

. b SEIVEGED IS
1.

(1. addition reaction

02, D05 DO



(1. substitution reaction

O2. |03 T HED TS

I>. redox reaction

I. €38 y8¢569-8 0HESed 38
4.9

Question Number : 136 Question Id : 4509385896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following can act as Lewis acids?

1) CCly 1) GeCly 11) SiFy

1806 a¢36S PO @3N DAV DD?

i) CCly i) GeCly iii) SiFy

Options:

(CCly. SiF4 only
CCly. SiF4 3576530

SiF4 only

SiF4 oﬁ?@l‘%ﬁ)

SiF4. GeCly only

SiFys, GeCly 37 €h o
3.¢ :

CCly. GeCly, SiFy
4, %



Question Number : 137 Question Id : 4509385897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following, when present in higher concentrations in air. retards the rate of
photosynthesis?
300 8BS 6. @AY mESeS TS &), §emds Hod3mH§oh Ben
eda06?

Options:

CO2

CH4

Question Number : 138 Question Id : 4509385898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



0.2 g of an organic compound containing C. H and O on complete combustion gave 0.46 g of CO;

and 0.25g of HyO. The percentage of oxygen i that compound 1s

C, H &80 0 e e 02 g © 28 DoB0H %0 & doardm Gardo
TOA0DSYD 046z © €Oz SHBAM 0.25 g © HO ) BB, & aFS0S
6381230 T

Options:

23.4
1.4

Question Number : 139 Question Id : 4509385899 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following alkenes is most stable?

1808 8OLIS” DO e9e53HE VDESE?

Options :



4.+

Question Number : 140 Question Id : 4509385900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A crystalline solid of the tvpe AB3 has cep arrangement for its element B. So. A occupies

AB3 0553 2,8 200 06350 TR S0PO50 B 5) cdn)) areh sNeISTR) (cop) @085

SO G0N0, §:H8 A 8EM0TO

Options :

66% of tetrahedral voids

BEF S SoTOS 66%

1. %

33% of tetrahedral voids

, o DUETBS SoreeS 33%



33% of octahedral voids

Ly s IrIGSO SolmreeS 33%

66% of octahedral voids

STFISS S0|TOS 66%
4. % ; :

Question Number : 141 Question Id : 4509385901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At 293 K the density of an aqueous solution containing 120 g of urea (NHyCONH,) per dm’ is

102 kg du®. The mole fraction of urea is approximately

203 K 56 1 d® 20056906 120 g © Shr8asr (NH:CONH)) Gedeycd o
P0(Ched 1,02 ke dm. STrBAS® T 2rffo Ty

Options :
0.038

1. %

0.962

0.98
4, %

Question Number : 142 Question Id : 4509385902 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Ethylene glycol (C3Hg0;) 1s used as an antifreeze i cars, In a certain place. it 1s desired that
water freezes at 258K, How much weight of ethylene glycol i1s needed to prevent separation of
ice from 500 g of water?
(Krof water = 1.86 K kg mol ™)
OO TeS (CH0y) & sthod orodd m (giherd) A6GT)
e, 2.8 D0a (DTF0S . 258 K 5S¢ 6 (968 8620 0008, 500 g A o
S0 T SR, AFAOIETDE Joes IHOS 7150 8506:0a)e08?
(V38 K= 1.86 K kg mol™)

Options:

Question Number : 143 Question Id : 4509385903 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A conductivity cell is filled with solution of KCl of concentration 0.2 mol dm ™ and its conductivity
is 0.28 Sm™". The resistance of this solution is 2.2 Q. The same cell filled with solution of
0.0025 mol dm™ K804 showed a resistance of 325 Q. The molar conductivity of K;SO4solution
(in Sm’ mol™) is

2,8 58 ¢ IO 0.2 mol dm™3 ¢ Ke) KCI & 0P, i) aaéeh 0

0.28 Sm™! 005 TR ABE0 822 Q. 6T D) 0.0025 mol dm™3 hed K6) KyS04
75608 JoNSHID. TR ABG0 325 Q ™ 0B, KiS0s [0 Jrerd
53868 50 (Sm? mol ™ o)

Options :
1.4 x 1072

1. %

2.8 x 1072
2.

4.2 5 1072

56x107*
4, %

Question Number : 144 Question Id : 4509385904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At T (K). the following data was obtained for the following reaction.

$,08 +31" = 2505 +13

Ex. No. | [S,05]*" [[I7] | Initial rate (M/s)
0.080 |0.034|22x107*
0080 |0017|1.1x10™*
0.160 0.017 |22 x107*

From the data, the rate constant of the reaction (in M s7) is

L | 2| =

T (K) 90 1500 58550 1508 d&Foren ©2oTraw.

5,08 43175 2802 +1;

Ex. No. | [S,05]%" [[I7] | Initial rate (M/s)
0.080 0034 |22x107*
0.080 |0017|1.1x 107
0.160 0017 [22x 107"

L.
2.
3.
2 AT0TOD GHATA0D, 2 G5 Bew VT80 Ve (M s o)

Options :

8.0 x 1072
1.¢

4.0 x 1072

8.0 x 1073

6.0x 1073

Question Number : 145 Question Id : 4509385905 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The dispersed phase. dispersion medium in smoke. respectively are

FHSQ DE D (9. DB DeD AFSBO. S5BT
Options :

solid. gas

. NS Herdo, 32odn HTEdo
’l. v

gas. gas

- SO DY, SO DTPO
gas. solid

A5 DETO0. S Hrrdo
3. ®
solid. solid
. S D0, NS Hrdo
4,

Question Number : 146 Question Id : 4509385906 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Adsorption of a gas on a solid obeys Freundlich adsorption isotherm. In the graph drawn between
log (x/m) (on y-axis) and log p (on x-axis). the slope and intercept are found to be 1 and 0.3
respectively. If the mitial pressure of the gas 15 0.02 atm, the mass of the gas adsorbed per gram of
solid 15 (antilog 0.3 =2)

0 D03 ok 9OF AN FPon0dR ©HT N ST BB 9HN6N0.
log (x/m) o) (7-295.0 D), log p o (x-898 0 DATE) S5 A s & e,
90503000 SR 1 HOO 03 T ODOAS. aFONL) SO NEA0 0.02 atm

900, 28 [T 00 DTG0 3 O NEDENE PN (3507 (antilog 0.3 =2)

Options :

T

Question Number : 147 Question Id : 4509385907 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Malachite is a mineral of metal *X’. Its composition 1s

37056 9TO X’ @D 2.8 S 80 B0 DB, T D00
Options :

Al203.28102 .2H2O
1. %



CuCO;3;.Cu(OH)2
2. ¢

CuCO3.CunS

CaS04.2H20

Question Number : 148 Question Id : 4509385908 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of mixed oxides from the following 1s

Al2O3. Pb3O4. MnoO7. Fez04. V205, ShaOs

1806 ¢3S Fsh e85 © Sos

AlO;3. PbsO4 MnoO7. Fez04. V205, ShaOs

Options :
¥
1. ~©
3
2. %
4
3. %
1



Question Number : 149 Question Id : 4509385909 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following ions is diamagnetic in nature?

50O e9aire S A 9ODHRTL 065 (D598 B DE?

Options:

% g IO
Ce”

1. #

Question Number : 150 Question Id : 4509385910 Display Question Number : Yes Is Question
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Arrange the following complexes in mereasing order of number of unpaired electrons present in
cenfral metal 1on

I [Fe(CN)]*

I [Co(C;04)s]°

ML [Mn(CNg)] ™
806 D0TTOD 3 S0|c38 S'sT aird SR BSIPH TS © Hops DOT
5500 S @:08,08.

L [Fe(CN) ] *

L [Co(C0,)s]™

MM [Mn(CNg)] %

Options :

M=<IIT=1
1. %

M <I<II
2. %

H<I<Ml
3. %

[<II<III
4. %
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Two statements are given below

I.  Cellulose acetate 1s rayon

II. Perlan-L is nylon 6. 6

Correct answer 1s

1508 BOCH P EWEEN Pad 522858

L BO0S @903B VENSE SV
I  DTR-LONIE Tere 6. 6
HOTDS HATTTSS0 DEY?

Options :

Statements 1. 1T both are correct

SPEDEEN L I BOCH 8D

Statements I. II both are incorrect

P EWEEN I I BOCH QBN 6) 5%

Statements I 1s correct but Statement II is incorrect

s I DB 55 75§ I DB 5%
3.¢

Statements I 1s incorrect but Statement IT is correct

L TEsl QBANAE 5N 550V 5§ IT OODAD
4,
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Observe the following amino acids

BOA DS 83770 HOBDOHOS

COOH COOH
HoN H H.N H
CH,CH (CH3); CH,0H
I I

Correct answer 18

QOAD 2372

Options :

Both I. IT are essential amino acids

LTI BOGT €33958 DS e5a37en

Both I. II are non-essential amino acids

L I BOCHT @934 58 DD esed7"en

2. ®

I 1s essential amino acid. IT is non-essential amino acid
L, 1e354s8 QS €300, II e9r%5F 58 DS €300

I 1s non-essential amino acid. IT 1s essential amino acid

I @970%9%5% DA €900, IT €35358 NS €300
4. %
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Which of the following forces stabilise secondary structure of proteins?
A. Hydrogen bonds B. Covalent bonds
C. Disulphide linkages D. Vander Waals forces

Correct answer is

1808 & e (3 DE0BE DT7eT) VB0 oTHEON?
A TTEBISDOTEN B, SHET2B00 20GPEN
C.BIB )G 0GTe D T0GD O weren

BN 235720
Options :

A. B only
A, B S5|¢5 3

1. %

A, C.D only

A. C.D Sredad
2.¢ -

A. D only

L x AD €533

B. C only

, % BC ST €530
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Two statements are given below
L SO; 1s used as antioxidant in wine
II. BHA is used as food preservative in dry fruits

Correct answer 1s
1508 BOH P §HEEN Qed §226800)
L 3 S 8028 05r0e3e08 8865 srcherdd
I OGBS D0teS BHA & 5538 Q08 Somr artherth

DO 22w
Options :

Statements 1. IT both are correct

D ED5eN LI BOCH QO

Statements 1. IT both are incorrect

Q°EWEEN I, I BOCH BTN 5%

Statement I 18 correct but statement I1 is incorrect

°55 I OO 570 5§ I DB 5°¢0

Statement I i1s incorrect but statement I1 1s correct

505 T ABADAE 5°¢H 57 0§ T OO
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An alkyl halide C4HoBr(X) undergoes hydrolysis preferably m polar protic solvents. X can be

prepared from which of the following reactants?
28 830 FBE CHBIX) Sopom (G (5 |msdod 2o
T0cHe08. 08 o) (BOSr25) TP 507 X o SASFE) BoRIN,)?

Options :

)

., HBr
1.¢
/l\ HBr / (CgH<C0),0,
2. % '
/\/ . Bny/A
3. %
e ¥ HBr / (CHC0),0,
4. %
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What are X and Y respectively in the following reactions?

1800 B0 X SO0 Y € SENT 7

(i) KMnO,KOH

Cl
CH,B:
- X
AlCl; major product
anhy.

(557 dieb 353,0)

Options :
Cl cl
// /
. ’ e
CH; CHO
1. %
Cl R
H; COOH
2. ®
H;C
3.¢

C
Cl 1
Oy
: HOOC
cl cl
OHC

H;C
4, %

(i) B
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What are X and Y 1 the following reactions?

COOH
CHO
HO -
X (i) SOCl,
(i) Y

1808 B0 X SO0 Y e )7

COOH
CHO
HO ‘ |
X (1) SOCL,
(11) Y
Options :
X = BaHs: Y=Hy/Pd
1. %
N = B>rHe: Y = H>. Pd-BaS04
2. ¥
X = (1) NaBH4 (1) H20: Y = Hj. Pd-BaSOy4
3. %
X =(1) NaBHj4 (1) H2O: " =H>/Pd
4, %
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Acetophenone can be prepared from which of the following reactants?

808 » (805r2d5'0) HOG JEDSR & SAEE TADID
cocl oN

9
L\JI [

CH;MgBr CH;MgBr.H,0

(:‘ .
) D. i

Options :

B. D only

B. D o307 €550
1.¢

B. C.D only
B. C, D o35 ed e

A . C.D only

A. C.D Sredad
3. % 2

A.B. C only

4, x AB C TS
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What 1s Z in the following set of reactions?

1BOD VB0 DM &S’ Z DEO?

HBEr - X-
/\ ] (CﬁHSC{ijOE :E;;E 7
- '&f'
H,O/H" Na

Options :

W W

L
T

B o N o N - P i S
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Arrange the following in increasing order of their pKy values.

A. Amline B. Benzylamine C. Ethylamine
1BOS a7¢3Q) 57°¢3 pKp Densden DET (5590 & @ j0dH
A dOS B BoBOIDS €. BSOS

Options:

A=<B=C
1. %

C<B<A
2. &

B<(C=<=A
3. %

A=C<B

4. %



